JIOrAPM®M CTENEHMU.




3. Jlorapudm creneHu paBeH
IIPOU3BEICHUIO ITIOKAa3aTeIsd CTEIEHN Ha
norapu(m ee OCHOBAHHS:

log a" =mlog. al

4. OcHoBaHue jorapupma B CTEIE



\

log . b" = Lloga b

: q
Sy

/) Aoeapugm cmenenu

log, b" =r-log,b




YacTHble CBOUCTBA:
1)log .1 =0;
2)log ,a =1,

3) log , (1/a) =-1;

4)log ,a™ = ny,

5)log,ma=1/m.



ITPUMEPBI




JlomaniHee 3agaHue:
Berauciaurp

52+Iog56 - 52 ' 5|0g56 =956 = 150

IlosicHerme, BEIMOTEM Mpe00paz0BaKKA;
53+|og52

3+loge2
5 +|0g5

32+|0g37.




